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Chapter 1

Introduction to Psychological Statistics
Section A
1.  The term "statistics" refers to: 
     a) values derived from the data in a sample

     b) facts expressed in numerical form 

     c) a branch of mathematics 

     d) all of the above 

Answer: D

2.  The purpose of descriptive statistics is to:


a) draw conclusions about a group that is too large to
        measure 

b) summarize important characteristics of a set of data 
  
c) both of the above 

d) neither of the above    

Answer: B
3.  Why are inferential statistics used in the behavioral sciences?


a) To correct for the error in tests, questionnaires, and 
        other research instruments.

b) A science must use numerical values.  

c) Researchers need a way to summarize the large amounts of
        data that they obtain.

d) Researchers want to draw conclusions about groups that
        are too large to measure in their entirety.

Answer: D

4.  Subjects are randomly assigned to watch either a horror movie or a comedy, and the amount of popcorn they eat during the movie is measured.  For this experiment, the type of movie is:

     a) an independent variable 

     b) a dependent variable 

     c) a continuous variable   

     d) a constant 

Answer: A
5.  A group of habitual coffee drinkers is compared to a group of subjects who do not drink coffee in terms of average sleep latency over a one-month period.  This study is an example of:

     a) experimental research   

     b) correlational research

     c) descriptive research   

     d) statistical research

Answer: B

6.  Self-esteem is an example of:

     a) an experimental variable   

     b) an ordinal variable 

     c) a continuous variable  

     d) a discrete variable

Answer: C

7.  A parameter is based on the values in:

     a) an experiment 

     b) a random sample 

     c) a population 

     d) a ratio scale 

Answer: C

8.  If all of the variables in your study have been measured on a nominal scale:

     a) your study is not a true experiment 

     b) you can only use descriptive statistics

     c) you can only use parametric statistics

     d) you can only use nonparametric statistics

Answer: D
9.  You can use parametric statistics only if at least one of your variables has been measured on:

     a) a nominal scale 

     b) a discrete scale 

     c) an ordinal scale 

     d) an interval scale 

Answer: D

10.  Even if your data consist of numbers, it is not valid to perform arithmetic operations on those numbers, if your data were derived from:

     a) a nominal scale 

     b) a discrete scale 

     c) a ratio scale 

     d) an interval scale 

Answer: A

11.  Psychological variables, such as anxiety or creativity, are not likely to be measured:

     a) on an ordinal scale

     b) in terms of numbers 

     c) on a ratio scale 

     d) as a continuous variable

Answer: C

12.  If a subject's attitude towards the death penalty is assessed on a scale that consists of: strongly opposed, somewhat opposed, slightly opposed, neutral, slightly for, somewhat for, and strongly for, which of the following types of scales is being used?

     a) a nominal scale 

     b) an ordinal scale 

     c) an interval scale 

     d) a ratio scale 

Answer: B

Section B

13.  Given that N = 20, what is the value of
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     a) 7   b) 27   c) 49   d) 140 

Answer: D

14.  Given the following set of numbers: 1, 3, 3, 5, 28, what is the value of (5X-1)? 

     a) 44   b) 160   c) 195   d) 199 

Answer: C

15.  Given the following set of numbers: 1, 3, 3, 5, 28, what is the value of (X)2? 

     a) 40   b) 784   c) 828   d) 1600

Answer: D
16.  Given the following set of numbers: 1, 3, 3, 5, 28, what is the value of X2? 

     a) 40   b) 784   c) 828   d) 1600   
Answer: C

17.  Given that: X1 = 3, X2 = 6, X3 = 9, Y1 = 4, Y2 = 8, Y3 = 12, what is the value of XY? 

     a) 42   b) 84   c) 168   d) 432 

Answer: C

18.  Given that: X1 = 3, X2 = 6, X3 = 9, Y1 = 4, Y2 = 8, Y3 = 12, what is the value of (X)(Y)? 

     a) 42   b) 84   c) 168   d) 432 

Answer: D

19.  Given that: X1 = 3, X2 = 6, X3 = 9, Y1 = 4, Y2 = 8, Y3 = 12, what is the value of (2X+Y)? 

     a) 60   b) 168   c) 336   d) 864 

Answer: A

20.  Given that: X1 = 3, X2 = 6, X3 = 9, Y1 = 4, Y2 = 8, Y3 = 12, what is the value of (X+Y)2? 

     a) 242   b) 350   c) 686   d) 1764 

Answer: C
Questions 21-28 refer to the small group of data shown below.  


X data:  X1 = 4

X2 = 2 
X3 = 0 
X4 = 4
Y data:  Y1 = 3

Y2 = 1
Y3 = 1


21.  ΣX + ΣY is equal to: 


a)  5
b) 10
c) 11
d) 15


Answer: D


22.  (ΣY)² is equal to:  


a)  11
b)  25
c)  36
d)  100

Answer: B


23.  ΣY² is equal to:  

a)  11
b)  25
c)  36
d)  100


Answer: A

24.  If k = 2, Σ(X + k) is equal to: 


a)  12
b)  16
c)  18
d)  20


Answer: C

25.  If k = 2, Σ(X – k) is equal to: 


a)  0
b)  2
c)  4
d)  8

Answer:  B

26.  If k = 2, ΣkX is equal to:  


a)  10
b)  12
c)  18
d)  20


Answer:  D


27.  If k = 3, ΣkY is equal to: 


a)  8
b)  14
c)  15
d)  30


Answer:  C

28.  (ΣX)(ΣY) is equal to:  


a)  0
b)  14
c)  15
d)  50

Answer: D

29.  Round off 5.9962 to two decimal places:

     a) 5.99   b) 5.996   c) 6.0   d) 6.00

Answer: D
30.  Round off 36.666 to one decimal place:

     a) 36.6   b) 36.7   c) 37   d) 40
Answer: B
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